

Received: 2001.08.06
Accepted: 2002.02.28
Published: 2002.07.15

Authors' Contribution:

- A** Study Design
- B** Data Collection
- C** Statistical Analysis
- D** Data Interpretation
- E** Manuscript Preparation
- F** Literature Search
- G** Funds Collection

Ozone therapy and the activity of selected lysosomal enzymes in blood serum of patients with lower limb ischaemia associated with obliterative atheromatosis

Małgorzata Tafil-Klawe¹■, Alina Woźniak²■■■■, Tomasz Drewa^{2,3}■, Irena Ponikowska⁴■, Joanna Drewa¹■, Gerard Drewa²■, Konrad Włodarczyk⁴■, Dorota Olszewska²■, Jacek Klawe⁵■, Róża Kozłowska⁶■

¹ Chair and Department of Physiology, L. Rydygier Medical University in Bydgoszcz, Poland

² Chair and Department of Biology, L. Rydygier Medical University in Bydgoszcz, Poland

³ Chair and Department of Urology, L. Rydygier Medical University in Bydgoszcz, Poland

⁴ Chair and Department of Balneology and Metabolic Diseases, L. Rydygier Medical University in Bydgoszcz, Poland

⁵ Chair and Department of Hygiene and Epidemiology, L. Rydygier Medical University in Bydgoszcz, Poland

⁶ Department of Radiology, Regional Centre of Oncology in Bydgoszcz, Poland

Summary

Background:

The paper compares the effects of ozone therapy and conventional balneological methods on health condition of patients with obliterative atheromatosis and on serum activity of three lysosomal enzymes.

Material/Methods:

Sixty-four patients with lower limb ischaemia in the course of obliterative atheromatosis (without diabetes) were enrolled in the study. Thirty-two patients were treated with ozone administered by intravenous infusions and 30-minute aerosol oxygen-ozone baths. A comparative group was formed of 32 patients treated with traditional balneology. There was also a control group made up of 30 healthy subjects. Ozone therapy as well as traditional balneology were administered daily for the period of 10 days, excluding Saturdays and Sundays. Blood for biochemical analysis was collected from elbow vein in the following time intervals: 24 hours before ozone therapy or classical balneology, one hour after therapy and on the 10th day of treatment. The activity of cathepsin D, acid phosphatase and arylsulphatase as well as the levels of α -1-antitrypsin (protease inhibitor) were determined in blood serum of patients with obliterative atheromatosis.

Results:

In patients who received ozone therapy the activity of analysed lysosomal hydrolases returned to the values typical for healthy subjects. Patients' general condition also improved. The use of traditional balneological methods did not result in any significant change either in the activity of lysosomal hydrolases, the level of α -1-antitrypsin or general condition of patients.

Conclusions:

Ozone therapy administered by intravenous infusions and aerosol oxygen-ozone baths of lower extremities yields much better therapeutic results in comparison with classical balneology.

key words:

obliterative atheromatosis • ozone therapy • arylsulphatase • acid phosphatase • cathepsin D • α -1-antitrypsin

Full-text PDF:

http://www.MedSciMonit.com/pub/vol_8/no_7/2091.pdf

File size:

92 kB

Word count:

2042

Tables:

2

Figures:

—

References:

49

Author's address:

Alina Woźniak PhD, Chair and Department of Biology, L. Rydygier Medical University in Bydgoszcz, ul. Karłowicza 24, 85-092 Bydgoszcz, e-mail: alina-wozniak@wp.pl

BACKGROUND

Lower limb ischaemia is associated e.g. with obliterative atheromatosis, which just like other illnesses related to unhealthy life style belong to 'civilisation diseases'. Apart from main etiological factors in obliterative atheromatosis, risk factors include but are not limited to smoking, unhealthy diet, hyperlipidaemia, overweight, sitting position, arterial hypertension and prolonged stress.

Coexistence of several risk factors often contributes to early development of first symptoms of the disease. Pathologic changes are not limited to lower extremities; the atheromatous process takes place in all blood vessels [1,2].

The basic pathomorphological change observed in obliterative atheromatosis is so-called atheromatous plaque, which contributes to the formation of aggregated deposits of lipids, cholesterol and dead phagocytes. They are deposited in the intima of large and medium-size arteries. Atheromatous plaques stiffen vessel wall, making vascular lumen narrow down. These constrictions hinder blood flow and are conducive to the formation of thrombi [3]. When a thrombus grows, vascular lumen is narrowed or it may be even completely occluded [4,5]. Consequently, blood stream does not reach all the tissues [6,7] which results in the development of necrotic changes [8] and inflammation.

These processes alter physical and chemical conditions in a cell. Biological membranes, including lysosomal membranes, lose their continuity, which results in the release of acid hydrolases from lysosomes to cytoplasm. Released hydrolases initiate autolysis of cells, increasing the necrosis in hypoxaemic tissues [9,10].

Lysosomal enzymes play an important role in the process of intracellular digestion. Lysosomes phagocytize and digest dead cell components and bacteria. Hyperactivity of lysosomal hydrolases may be one of the symptoms of tissue necrosis resulting from insufficient oxygen supply [11,12]. The damage of lysosomal membranes and the release of hydrolases to cytoplasm are also related to increased activity of enzymes in blood [13].

The elimination of risk factors for obliterative atheromatosis ensures the improvement of general health condition only in patients with minor ischaemic changes. Conservative treatment does not always restore normal haemodynamic conditions [14,16]. High rate of failure in the treatment of obliterative atheromatosis of lower limbs makes investigators search for alternative methods of therapy. One of them, which has been known for a long time, but remained unpopular chiefly due to technical considerations is ozone therapy [17,19].

The administration of oxygen-ozone mixture by intravenous infusion prevents the formation of further ischaemic changes in tissues, as oxygen availability in necrotic areas improves. Ozone makes cell membranes more permeable. Blood level of 2,3-DPG also increases

which facilitates the penetration of oxygen from blood into tissues [20–22].

The present work compares the effect of ozone therapy and classical balneological methods on health condition of patients with obliterative atheromatosis and on serum activity of three lysosomal enzymes.

The assessment of the activity of lysosomal hydrolases in certain disease entities makes treatment more effective and may be also helpful in the diagnosis and monitoring of a given disease [23].

MATERIAL AND METHODS

The study group

Thirty-two patients (8 women and 24 men) with lower limb ischaemia in the course of obliterative atheromatosis of lower extremities received ozone therapy. Patients' mean age was 65.8 ± 6.9 years. The patients have had the symptoms of the disease for the average of 4.5 ± 3.0 years. Sixteen patients from the group on ozone therapy suffered from ischaemic heart disease, 10 – from arterial hypertension and there were 2 subjects with the history of stroke.

Along with ozone therapy the patients also received the drugs prescribed to them by their doctors (pentoxifylline – 24, acetylsalicylic acid – 10, anticoagulants – 2).

Thirty-two patients (8 women and 24 men) with lower limb ischaemia in the course of obliterative atheromatosis of lower extremities received traditional balneological treatment. Patients' mean age was 62 ± 8 years. All the subjects from this group suffered from ischaemic heart disease and two of them also had arterial hypertension. Along with balneological therapy the patients also took medicines prescribed to them by their doctors (pentoxifylline and acetylsalicylic acid).

Control group consisted of 30 healthy subjects (15 women and 15 men) aged approximately 60 years.

Treatment

Ozone therapy as well as classical balneological treatment was administered daily for the period of ten days, excluding Saturdays and Sundays.

Ozone therapy was given as:

- intravenous infusions, and
- 30-minute aerosol oxygen-ozone baths.

500 mL of normal saline satiated with ozone ($60 \mu\text{g O}_3/\text{mL}$) was administered by intravenous infusion within 1.5 hours. After the administration of half the volume of physiological saline it was replaced as the concentration of ozone drops down to 50% after approximately 40 minutes.

Normal saline was satiated with ozone for 10 minutes, using ATO₃ ozone generator.

During aerosol ozone baths of lower legs the patients assumed sitting position. Ozone concentration in a chamber was 19 µg/L.

Patients from comparative group received whirlpool massage therapy and carbonic acid baths. The study was approved by Bioethics Committee at Medical University in Bydgoszcz.

Collection of blood samples for biochemical analysis

Blood for biochemical analysis was withdrawn on empty stomach in the following time intervals: 24 hours before starting ozone therapy (1st collection), one hour after the end of ozone therapy (2nd collection) and on 10th day of ozone therapy (3rd collection). Blood from patients receiving classical balneological treatment (comparative group) was collected in the same time intervals. Patients from control group gave their blood samples only once.

The following were determined in blood serum: the activity of cathepsin D (E.C.3.4.4.23) with the use of Anson's method [24], the concentration of α -1-antitrypsin (protease inhibitor) [25], the activity of acid phosphatase (E.C.3.1.3.2.) according to Bessey [26] and the activity of arylsulphatase (E.C.3.1.6.1.) according to Roy's method modified by Bleszyński [27]. Plasma levels

of total cholesterol, LDL and HDL cholesterol and triglycerides were also assessed.

Statistical analysis

The results obtained were analysed statistically with t-Student test for independent variables and Scheffe test for dependent variables.

RESULTS

There were no significant differences in the activity of lysosomal enzymes between male and female patients and hence the results obtained were averaged.

The use of ozone given by intravenous infusions and aerosol baths of lower legs increased the activity of lysosomal hydrolases to the values found in healthy subjects (Table 1) and improved patients' general condition (Table 2). Ozone therapy resulted in greater activity of arylsulphatase and cathepsin D and in the decrease of the activity of acid phosphatase and serum levels of α -1-antitrypsin to the values observed in healthy subjects. There was a negative correlation between cathepsin D activity and the concentration of α -1-antitrypsin, one of protease inhibitors ($r=-0.65$; $p<0.001$)

The use of whirlpool massages and carbonic acid baths applied to lower legs of patients from the comparative group did not bring about any significant changes in the

Table 1. Activity of selected lysosome enzymes and serum levels of α -1-antitrypsin in patients (men and women) with lower limb ischaemia associated with obliterative atheromatosis. Values classified with reference to therapy applied.

Enzyme	Control group	Therapy applied					
		Ozone therapy			Conventional balneology		
		Analysis					
		I	II	III	I	II	III
Arylsulphatase (10 ⁻³ nM 4NC/mg protein)	3.20±0.53	1.71±0.40**	1.88±0.42*	2.71±0.68*	1.64±0.34*	1.73±0.30*	1.98±0.42*
Acid phosphatase (10 ⁻³ nM p-nitrophenol/mg protein)	8.60±1.40	14.11±2.56**	12.21±1.9*	9.97±1.48*	14.08±2.26*	14.09±2.70*	14.14±2.16*
Cathepsin D (10 ⁻² nM tyrosine/mg protein)	7.25±1.60	1.75±0.38**	3.41±0.69*	5.39±1.19**	1.89±0.54*	2.75±0.61*	2.59±0.65*
α-1-antitrypsin (mg tyrosine)	1.07±0.12	1.62±0.22**	1.39±0.22*	1.19±0.15	1.63±1.13*	1.64±0.14*	1.63±0.16*

Statistically significant differences – relative to control group: * $p<0.0001$; ** $p<0.001$; between analysis I and II+ $p<0.05$

Table 2. Effect of ozone therapy and conventional balneology on general condition of patients with lower limb ischaemia associated with obliterative atheromatosis.

Index	Ozone therapy	Conventional balneology
BMI	Reduced by 2.4%	Reduced by 3.2%
Ankle arm index (right extremity)	Improved by 13.8%	Improved by 2.8%
Ankle arm index (left extremity)	Improved by 14.9%	Improved by 5.7%
Intermittent claudication distance in the corridor	Improved by 34.2%	Improved by 22.0%
Intermittent claudication distance on a track	Improved by 50.6%	Improved by 22.0%
Total cholesterol	Reduced by 5.0%	Reduced by 7.0%
HDL	No change	Elevated by 4.8%
LDL	Reduced by 7.2%	Reduced by 8.3%
Triglycerides	Reduced by 11.1%	Reduced by 20.0%

activity of analysed lysosomal hydrolases or in the concentration of α -1-antitrypsin. As opposed to ozone therapy, conventional balneological treatment did not result in a satisfactory enhancement in patients' general condition. After ozone therapy, the distance of intermittent claudication in the corridor and on a track improved by the average of 40%, while an ankle arm index got better by 14%. On the other hand, no statistically significant change was observed in the levels of total cholesterol, LDL and HDL cholesterol and Body Mass Index (BMI).

DISCUSSION

Despite the fact that some authors reported harmful effects of ozone on tissues in animal studies [28,29], ozone therapy plays an important role in the treatment of lower limb hypoxia associated with obliterative atheromatosis. Animal studies showed that excessive amounts of ozone may be harmful e.g. by the formation of many peroxides and hydroxylic radicals.

Ozone supplied to human body reacts unlike that in laboratory conditions [30]. Numerous papers, however, report improved oxygenation of blood and tissues, reduced blood viscosity and coagulability, and lower aggregation of blood platelets [31]. Oxygen-ozone mixture administered by intravenous infusions to patients with obliterative atheromatosis does not damage endothelium [8].

Being an allotropic variety of oxygen, classified as a reactive form of oxygen, ozone damages cell structures. Its reactivity is reflected in strong oxidation, bactericidal, virucidal, fungicidal and protozoicidal capacities. It is extremely efficient in topical treatment of infections caused by anaerobes. Topical application of ozone spray helps to clear wounds [32].

Ozone therapy is most often administered by the saturation of venous blood with ozone using autohaemotransfusion [33], the administration of oxygen-ozone mixture in physiologic saline to arteries or veins [34].

It is believed that the products of ozone reactions with organic compounds in the cells have therapeutic properties [35]. Hydroxyperoxides formed during osmolysis have different properties than lipid peroxidation products synthesized in the course of radical reactions [19,36]. These products are hydrophilic and are capable of removing harmful peroxides and free oxygen radicals. They also activate enzyme systems of cell clearance [37,38].

Therapeutic effects of ozone therapy in patients with lower limb ischaemia associated with obliterative atheromatosis are probably the result of specific ozone properties. This claim seems to be supported both by subjective and objective improvement in patients' general condition and the changes in the activity of lysosome hydrolases.

After ten intravenous infusions of ozone and aerosol baths of lower limbs, the distance of intermittent claudication on a track improved by about 50%, while the dis-

tance of intermittent claudication in the corridor improved by 34% in comparison to the status before admission to hospital. Classical balneological treatment resulted only in 22% improvement.

The enhancement of patients' clinical status and objective improvement of ankle arm index as well as longer distance of intermittent claudication after ozone therapy administered to patients with lower limb ischaemia are consistent with the findings reported by Sroczyński et al. [39].

The change in the activity of lysosomal enzymes towards normal values and the improvement of general condition of patients with lower limb ischaemia have also been discussed by other authors [40], while Włodarczyk [41] reported a change in the activity of antioxidation enzymes.

It is presumed that ozone administered by intravenous infusion or externally in various forms protects tissues not only against hypoxia, but also against revascularisation once the oxygenation conditions are changed [42]. The improvement of blood supply usually means that there is a sudden inflow of large amounts of oxygen that ischaemic tissues are not prepared for [43].

Better blood supply ensures access to the wound for macrophages, neutrophils and lymphocytes. These cells phagocytize damaged or dead structures and microorganisms. Phagocytizing cells are particularly rich in lysosomes. In the state of hypoxia macrophages phagocytize damaged tissues and help to eliminate local inflammations [44,45]. Changes in the activity of lysosome enzymes are also observed in the course of other diseases [11,12].

Low cathepsin D activity in blood serum of patients with lower limb ischaemia may be the consequence of inhibiting enzyme activity by inhibitors. All the patients with obliterative atheromatosis demonstrate high levels of α -1-antitrypsin, one of protease inhibitors, compared with the values observed in healthy subjects ($p < 0.0001$). Greater secretion of this antitrypsin to plasma probably allows to maintain homeostasis between high cathepsin D activity and autolysis of hypoxic tissues.

Sloane et al. [46] found high activity of cathepsin B and a simultaneous low concentration of endogenous protease inhibitors in blood serum of patients with neoplastic disease. It is believed that protease inhibitors play much more important role than proteases themselves in the pathology of certain diseases [47].

Higher activity of acid phosphatase in patients with lower limb ischaemia associated with diabetic macroangiopathy has been reported by e.g. Marques et al. [48] and Drewa et al. [40]. Their observations are consistent with our findings. Patients with lower limb ischaemia in the course of obliterative atheromatosis also show high activity of acid phosphatase. Conventional balneological treatment does not change acid phosphatase activity. Ozone limits the increase in the activity of acid phosphatase probably

through the stabilisation of lysosome membranes and delimitation of the phagocytosis of monocytes and macrophages, also preventing cell autolysis and tissue damage [19]. Lower activity of arylsulphatase among patients with the hypoxia of tissues in lower limbs may follow from excessive amount of their inhibitors such as sulphates, sulphites and phosphates [49].

CONCLUSIONS

Ozone properties discussed above alter the activity of three lysosomal enzymes analysed in this work to the activity found in the plasma of healthy subjects and they also improve patients' clinical status. Ozone therapy administered by intravenous infusions and in the form of aerosol oxygen-ozone baths of lower extremities yields much better therapeutic results in comparison with classical balneology (whirlpool massage and carbonic acid baths).

REFERENCES:

- Tracy R, Newman W, Wattigney W: Risk factors and atherosclerosis in young autopsy findings of the Bogalusa Heart Study. *Am J Med Sci*, 1995; 310: 37-41
- Posterkamp G, Schonenveld AH, van der Wal AC et al: Inflammation of the atherosclerotic cap and shoulder of the plaque is a common and locally observed feature in unruptured plaques of femoral and coronary arteries. *Arterioscler Tromb Vasc Biol*, 1999; 19: 54-8
- Davies MJ: The birth, growth, and consequences of the atherosclerosis plaque. *Dialog Cardiovasc Med*, 1999; 4: 115-30
- Berliner J, Navab M, Fogelman A: Atherosclerosis: basic mechanisms: oxidation, inflammation and genetics. *Circulation*, 1995; 91: 2488-96
- Ku A, Nagler W: Związujące stwardnienie tętnic. Diagnostyka i metody leczenia zachowawczego. *Medycyna po Dyplomie*, 1997; 6: 173-85
- Mintz G, Kent K, Pichard A et al: Contribution of inadequate arterial remodelling to the development of focal coronary artery stenoses. An intravascular ultrasound study. *Circulation*, 1997; 95: 1791-8
- Cathcart MK, Folcik VA: Lipoxygenases and atherosclerosis: protection versus pathogenesis. *Free Radic Biol Med*, 2000; 28: 1726-34
- Roś D, Ponikowska I, Paczulski R et al: The influence of ozone therapy on endothelial damage markers in patients with atherosclerosis of lower extremities. *Pol Merk Lek*, 1999; 6: 135-37
- Hansson G, Jonasson L, Seifert P, Stemme S: Immune mechanism in atherosclerosis. *Arteriosclerosis*, 1989; 9: 567-78
- Gacko M, Głowiński S, Worowska A et al: Activity of membrane, cytosol and lysosome enzyme in organs and blood serum during declamping shock. *Rocz Akad Med Białystok*, 1995; 40: 172-9
- De Leon DD, Terry C, Asmerom Y, Nissley P: Insulin like growth factor II modulates the routing of cathepsin D in MCF-7 breast cancer. *Endocrinology*, 1996; 137: 1851-59
- Olszewska D, Drewa T, Makarewicz R et al: Znaczenie katepsyny B i D w procesach fizjologicznych i patologicznych oraz w procesach nowotworowych. *Pol Merk Lek*, 2001; 10(55): 65-70
- Bednarski E, Lauterborn JC, Gall CM, Lynch G: Lysosomal dysfunction reduces brain-derived neurotrophic factor expression. *Exp Neurol*, 1998; 150: 128-35
- Goldhaber SZ, Manson JE, Stampfer MJ et al: Low-dose aspirin and subsequent peripheral arterial surgery in the Physicians Health Study. *Lancet*, 1992; 340: 143-45
- Blankenhorn DH, Selzer RH, Crawford DW: Beneficial effects of colestipol-niacin therapy on the common carotid artery: two-and four-year reduction of intima-media thickness measured by ultrasound. *Circulation*, 1993; 88: 20-28
- Ridker P, Cushman M, Stampfer ME: Inflammation, aspirin and the risk of cardiovascular disease in apparently healthy men. *N Engl J Med*, 1997; 336: 973-79
- Elies MKH: Medizinisches Ozon und Durchblutungsstörungen - bewährte Therapiekonzepte. *Bioozon J*, 1989; 6: 20-25
- Antoszewski Z, Kulej J, Wyględowski M et al: Some aspects of ozone therapy. *Przeg Lek*, 1997; 54: 561-4
- Bębenek M, Wawrzukiewicz M, Zagrobelny Z: Zastosowanie ozonu w medycynie. *Pol Przegl Chirur*, 1995; 67: 212-16
- Yla-Herttuala S, Paliński W, Rosenfeld ME et al: Evidence for the presence of oxidatively modified low density lipoprotein in atherosclerotic lesions of rabbit and man. *J Clin Invest*, 1989; 84: 1086-95
- Sroczyński J, Antoszewski Z, Rudzki H et al: Niektóre parametry gospodarki lipidowej po dotętnicznych wstrzyknięciach ozonu u chorych na chorobę niedokrwinną kończyn dolnych oraz cukrzycę. *Pol Tyg Lek*, 1990; 45: 953-55
- Sobal G, Menzel EJ, Sinzinger H: The effects of glycation/glycoxidation on the liberation of 8-epi-PGF₂ alpha from low density lipoprotein during its in vitro oxidation. *Prostaglandins Leukot Essent Fatty Acids*, 2000; 62: 217-24
- Gólaszewski Z, Gacko M, Gólaszewska J: Rola proteaz w zmianach okresowych błony śluzowej macicy oraz powstawaniu i rozwoju łóżyska. *Post Nauk Med*, 1998; 9(4): 3-11
- Colowick SP, Kaplan NC: *Methods in enzymology*. New York: Academic Press; 1955; 2
- Szczeklik E: *Enzymologia kliniczna*. Warszawa: PZWL, 1974
- Jakubowski Z, Kabata J, Kalinowski L: *Badania laboratoryjne w codziennej praktyce*. Gdańsk, MAKMED, 1993
- Błęszyński W: Purification of soluble arylsulphatase from ox brain. *Biochem J*, 1965; 97: 360-64
- Plopper C, Duan X, Buckpi HA, Pinkerton K: Dose-dependent tolerance to ozone. IV. Site-specific elevation in antioxidant enzymes in the lungs of rats exposed for 90 days or 20 months. *Toxicol Appl Pharmacol*, 1994; 127: 124-31
- Watkins W, Wister M, Highfill J: Ozone toxicity in the rat I. Effect of changes in ambient temperature on extra-pulmonary physiological parameters. *J Appl Physiol*, 1995; 78: 1108-20
- Altman N: *Oxygen healing therapies*. Rochester -Vermont: Healing Arts Press, 1995
- Turczyński B, Sroczyński J, Antoszewski Z et al: Ozone therapy and viscosity of blood and plasma, distance of intermittent claudication and ceratin biochemical components in patients with diabetes type II and ischemia of the lower extremities. *Pol Tyg Lek*, 1991; 46: 708-10
- Madej P, Antoszewski Z, Madej J: Ozonoterapia. *Mat Med Pol*, 1995; 27: 53-6
- Bocci V: Autohaemotherapy after treatment of blood with ozone. A reappraisal. *J Int Med Res*, 1994; 22: 131-44
- Beliamin II, Schmeller EI: Blood ozonation in the treatment of patients with progressive pulmonary tuberculosis concurrent with diabetes mellitus. *Probl Tuberk*, 1998; 1: 30-33
- Ventura P, Panini R, Verlato C et al: Peroxidation indices and total antioxidant capacity in plasma during hyperhomocysteinemia induced by methionine oral loading. *Metabolism*, 2000; 49: 225-28
- Choe M, Jackson C, Pal Yu B: Lipid peroxidation contributes to age-related membrane rigidity. *Free Radic Biol Med*, 1995; 18: 977-84
- Claus V, Jahraus A, Tjelle T, Berg T: Lysosomal enzyme trafficking between phagosomes, endosomes and lysosomes in J774 macrophages. Enrichment of cathepsin H in early endosomes. *J Biol Chem*, 1998; 273: 9842-51
- Chopra M, Turnham DI: Antioxidants and lipoprotein metabolism. *Prac Nutr Soc*, 1999; 58: 663-71
- Sroczyński J, Antoszewski Z, Matyszczyk B et al: Clinical assessment of treatment results for atherosclerosis ischemia of the lower extremities with intraarterial ozone injections. *Pol Tyg Lek*, 1992; 47: 964-66
- Drewa T, Woźniak A, Tafil-Klawe M et al: Wpływ ozonoterapii na aktywność wybranych hydrolaz lizosomalnych w surowicy krwi chorych z niedokrwieniem kończyn dolnych na tle makroangiopatii cukrzycowej. *Czynniki Ryzyka*, 2001; 1(2): 74-80
- Włodarczyk K: *Badania enzymów układu antyoksydacyjnego u chorych z przewlekłym niedokrwieniem kończyn dolnych podanych terapii ozonowej*. Praca doktorska, 2001

42. Antoszewski Z, Skowron J, Kulej J et al: Zastosowanie ozonoterapii u chorych leczonych ambulatoryjnie. I Ogólnopolski Kongres Polskiego Towarzystwa Ozonoterapii, listopad 14-17, Katowice, Polska, 1993
43. Chojnowski J, Ponikowska I, Szmurło W: Badania kliniczne nad wykorzystaniem kąpieli ozonowych w leczeniu niedokrwienia kończyn dolnych. *Balneol Pol*, 1998; 40: 52-8
44. Hauss R, Oklenschlaeger G, Rummel D: Effizienzsteigerung der Ozontherapie bei peripheren arteriellen Durchblutungsstörungen durch einen stoffwechselaktiven Milzextrakt. *Der Ozontherapeut-Dokumentation*, 1990; 2: 34-9
45. Klapcińska B, Madej P, Sobiech K: Wybrane parametry hematologiczne i biochemiczne we krwi szczurów poddanych działaniu mieszaniny tlenowo-ozonowej. I Ogólnopolski Kongres Polskiego Towarzystwa Ozonoterapii; listopad 14-17, Katowice, Polska, 1993
46. Sloane BF, Moin K, Krepała E, Rozhin J: Cathepsin B and its endogenous inhibitor and the role in tumor malignancy. *Cancer Met Rev*, 1990; 9: 333-52
47. Drewa T, Olszewska D, Makarewicz R et al: Znaczenie katepsyny B i D i ich inhibitorów w procesach nowotworowych. *Pol Merk Lek*, 2001; 11(61): 403-5
48. Marques F, Crespo ME, Silva ZI, Bicho M: Insulin and high glucose modulation of phosphatase and reductase enzymes in the human erythrocytes a comparative analysis in normal and diabetic states. *Diabetes Res Clin Pract*, 2000; 47: 191-8
49. Fuji T, Kobayashi T, Honke K et al: Proteolytic processing of human lysosomal arylsulphatase A. *Biochim Biophys Acta*, 1992; 1122: 93-8

Index Copernicus

Global Scientific Information Systems
for Scientists by Scientists

www.IndexCopernicus.com



TM

INDEX
COPERNICUS
INTERNATIONAL



EVALUATION & BENCHMARKING

PROFIED INFORMATION

NETWORKING & COOPERATION

VIRTUAL RESEARCH GROUPS

GRANTS

PATENTS

CLINICAL TRIALS

JOBS

STRATEGIC & FINANCIAL DECISIONS

Index Copernicus integrates

IC Scientists

Effective search tool for collaborators worldwide. Provides easy global networking for scientists. C.V.'s and dossiers on selected scientists available. Increase your professional visibility.

IC Journal Master List

Scientific literature database, including abstracts, full text, and journal ranking. Instructions for authors available from selected journals.

IC Patents

Provides information on patent registration process, patent offices and other legal issues. Provides links to companies that may want to license or purchase a patent.

IC Conferences

Effective search tool for worldwide medical conferences and local meetings.

IC Grant Awareness

Need grant assistance? Step-by-step information on how to apply for a grant. Provides a list of grant institutions and their requirements.

IC Virtual Research Groups [VRG]

Web-based complete research environment which enables researchers to work on one project from distant locations. VRG provides:

- customizable and individually self-tailored electronic research protocols and data capture tools,
- statistical analysis and report creation tools,
- profiled information on literature, publications, grants and patents related to the research project,
- administration tools.

IC Lab & Clinical Trial Register

Provides list of on-going laboratory or clinical trials, including research summaries and calls for co-investigators.